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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Thermal Engineering-I1
Subject Code: 2TEO5THE1 Branch: Diploma (Mechanical)
Semester : 5 Date : 25/11/2019 Time : 10:30 To 01:30 Marks : 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams & figures (if necessary) at right places.

(4) Assume suitable & perfect data if needed.

Attempt the following questions

1)  Aspark plug gap is kept from

1) 0.3t00.7mm 3)0.4t0 0.9 mm

2) 0.2t00.8 mm 4)0.6to 1.0 mm
2)  The theoretical correct mixture of air and petrol is

1) 10:1 2) 20:1 3) 15:1 4) 25:1
3) The calorific value of gaseous fuels is expressed in terms of.....

1) Kcal 2) Kcal/kg 3) Kcal/m? 4) Kcal/m®
4)  The break power of an engine is always......the indicated power

1) Equalto  2) less than 3) greater than 4) None of these
5)  During a refrigeration cycle,heat is rejected by the refrigerant in a.......

1) Condenser  2) compressor  3) Evaporator 4) Expansion valve
6)  One tonne of refrigeration is equal to

1) 21kJ/min 2) 210 kJ/min 3) 310 kJ/min 4) 420 kJ/min

7)  Which of the following refrigerant is highly toxic and flammabile.......

1) Ammonia  2) Carbon dioxide  3) Sulphur dioxide 4) Freon-12
8) The C.O.P. of domestic refrigerator.......

1) islessthanl 2)Ismorethanl  3)Isequaltol  4) none of these
9)  The domestic type of refrigerator uses.......compressor

1) Centrifugal 3) Miniature scaled unit

2) Axial 4) Piston type reciprocating
10)  Inrefrigeration cycle,the flow of refrigerant is controlled by ....

1) Condenser 2) compressor 3) Evaporator 4) Expansion

valve

11)  The most suitable refrigerant of a commercial ice plant.......

1) Brine 2) NH3 3) Freon 4) Air
12)  The friction power is given by

1) FP=B.P-IP 3)FP=1P-B.P

2) FP=B.P/ILP 4)FP=1P/B.P
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R-717 known as

1) Air 2) ammonia 3) carbon dioxide  4) methane
The ignition quality of petrol is expressed by

1) Octane number 3) calorific value

2) Cetane number 4) all of these

Attempt any four questions from Q-2 to Q-8

Write difference between external and internal combustion engine.

State the purpose of governing of I. C. Engine and explain any one method of
governing of I. C. Engine.

What is supercharging? What is its purpose

Explain working of four stroke diesel engine with P-V diagram.

State the different cooling method of I. C. Engine. Explain water jacket cooling
system with simple sketch.

What is CNG? State its advantages.

Explain about different kind of alternative fuels.

Write short note on biodiesel.

Describe the properties of refrigerant used in common practice.

Explain briefly the concept of heat engine, heat pump and refrigerator.
Write difference between window air conditioning and split air conditioning.
With a schematic sketch explain the function of various parts of the VCRS.
Write difference between four stroke petrol and four stroke diesel engine.
Draw and explain valve timing diagram of 4 stroke petrol engine.

Draw psychometric chart and show there in different properties of air water
vapor mixture.

An oil engine working on four stroke engine is tested having following data
mean effective indicated pressure = 3bar

diameter of the engine =30 cm

piston stroke = 40cm, speed of engine = 600 rpm

mechanical efficiency = 80% calculate 1) indicated power 2) brake power in KW
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